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INSTRUCTIONS w
This question paper contains all .objective questions divided into three cf\tegories.. Each
question has four answer options given. o o ' )
Category-1 : Carry 1 mark each and only one option Is correct. In case of incorrect answer or
any combination of more than one answer, 1, mark will be deducted. '
Category-1I : Carry 2 marks each and only one option is correct. In case of incorrect answer
or any combination of more than one answer, % mark will be deducted.
Category-III : Carry 2 marks each and one or more option(s) is/are correct. If all correct
answers are not marked and also no incorrect answer is marked, then score = 2 x number of
correct answers marked + actual number of correct answers. If any wrong option is marked or
if any combination including a wrong option is marked, the answer will be considered wrong,
but there is no negative marking for the same and zero mark will be awarded. '
Questions must be answered on OMR sheet by darkening the appropriate bubble marked A,
B,C,orD. .. | .
Use only Black/Blue ball point pen to mark the answer by complete filling up of the
respective bubbles. :
Mark the answers only in the space provided. Do not make any stray mark on the OMR.

Write question booklet number and your roll number carefully in the specified locations of
the OMR. Also fill appropriate bubbles.

Write your name (in block letter), name of the examination centre and put your full signature
in appropriate boxes in the OMR. ' {4

The OMR is liable to become invalid if there is any mistake in filling the correct bubbles for
question .booklet number/roll number or if there is any discrepancy in the name/signature of
the candidate, name of the examination centre. The OMR may also become invalid due to

folding or putting stray marks on it or any damage to it. The consequence of such invalidation

due to i 4 . . . it
c:;didal?:o"ect marking or careless handlmg‘by the candidate will be sole responsibility of

f:andt:dﬁtes are not allowed to carry any written or printed material, calculator, pen, docu-pen,
og table, wristwatch, any communication device like mabile phones etc. inside the
examination hall. Any candidate found with such items will be reported against & his/her
candidature will be summarily cancelled. ' .

Rough work must be done on the

the question paper for rough work,

Hand over the OMR to the invigilator before leaving the Examination Hall.

This paper COI}taiﬂs qpestions in both English and Bengali. Necessary care and precaution’
were taken while framing the Bengali version. However, if any discrepancy(ies) is /are found

between the two versions, the information provided in the English version will stand and will
be treated as final,

\

question paper itself. Additional blank pages are given in

J
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PHYSICS

Unless otherwise specified in the question, the following \}alues should be used :
Mechanical equivalent of heat, J = 4.2 J cal™!
Acceleration due to gravity, g =9.8 m s72
Absolute zero temperature = -273 °C

Speed of light in vacuum = 3 x 108 ms™!

The following symbols usually carry meaning as given below :
g, : electric permittivity of free space
M, : magnetic permeability of free space

R : universal gas constant
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Category-1(Q. 1 to 30 |
Category-I : Carry 1 marI.( each and only one option is correct. In case of incorrect
answer or any combination of more thap one answer, 4 mark will be deducted.

mmaﬁvumwmlmmnw@mmmmmmm
et v w2t am |

A spherical convex surface of power 5 dioptre Separates object and image space of

: 4 : . .
refractive indices 1.0 and 3 respectively. The radius of curvature of the surface is

(A) 20cm B) 1lcm : ) 4cm (D) 5cm
Sdioptrewwmawmﬁmmwwml.wgzfﬁmm@w\s
ﬁt%ﬁvwwqwmuwmﬁmwwmém

(A) 20cm (B) 1cm (€) 4cm (D) 5cm

In Young’s double slit experiment, light of wavelength A passes through the double-slit
and forms interference fringes on a screen 1.2 m away. If the difference between 3™ order

maximum and 3" order minimum is 0.18 cm and the slits are 0.02 cm apart, then A is

(A) 1200 nm (B) 450 nm (C) 600 nm (D) 300 nm
m-mﬁ-ﬁwﬁamemmﬁaml.zmmm WSBR A7
Nﬁwmﬁﬁzﬁﬁawmomcmﬂmmmﬁ%emw

B2 TR A 0.18 cm TF O A &7 T T
(A) 1200 nm (B) 450 nm (C) 600 nm (D) 300 nm

A 12.5 ev electron beam is used to bombard gaseous hydrogen at ground state. The
energy level upto which the hydrogen atoms would be excited is

A) 2 (B) 3 (©) 4 D) 1

12.5 ev *&RME 2GS a9 tSTReca A M TREGNER AT Wi 4 |
TR T FIREIOAA *1719 T o3 SR 203, ©IF T

e ®) 3 © 4 D) 1
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Let r, v, E be the radius of orbit, speed of electron and total energy of electron
respectively in a H-atom. Which of the following quantities according to Bohr theory, is
proportional to the quantum number n ?

A) wr B) E ©) % (D) %

TRTEEA *IANF UFA 1, v, E IO IHARLT IS, R R 92 RS
e R AT I@ | BT TR AR @ ogmad, @I WA o 97
FAAEF ¢ ~

(A) wr (B) tE ' ©) £ (D) _:_;_
N

| 1

A% : 1kQ
| - 10V
T

What is the value of current through the diode in the circuit given ?
(A) 0OmA (B) lmA ©) 19mA (D) 9mA
B e IS, TIrATes w4 MTT SRR 9 2@
(A) 0OmA (B) 1mA () 19mA (D) 9ImA
A

B—6TDo— |
L_DV .Y

For the given logic circuit, the output Y for inputs (A =0, B=1) and (A =0, B=0)
respectively are

(A) 0,0 ® o1 © 1,0 D 1,1

fbra amffe Afere T8N TF9B (A=0,B=1) 8 (A =0, B = 0) 43 [ WEBH Y T
QTN : |

A) 0,0 B) 0,1 © 1,0 O 1,1
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From dimensional analysis, the Rydberg constant can be expressed in terms of electric

charge (€), mass (m) and Planck constant (h) as [consider' =1 unit]
T €,
h? me* m’e* 2
A) —= B) — C me
( ) m e2 ( ) h2 ( ) b 3 (D)

h
W S SR, Froa g SERGER Wy (€), ©F (m) 8 2T YA (h) Ty

mmmaﬁmm(%smwmm)

TE,
h? : 2,4 2
N L
Fy o m | m

Three blocks are pushed with a force F across a frictionless table as shown in figure. Let
N, be the contact force between the left two blocks and N, be the contact force between
the right two blocks. Then | '

(A) F>Nl>N2 (B) F>N2>N1 ©) F>N, =N, D) F=N,=N,

Wmm%%wmmme@wamﬁwmmﬁ

Wmmﬁm%ﬁsmmemﬁmqﬁmw%ﬁwwmn

\Uc | | .

(A) F>Np>N, B) F>N>N,  (€) F>N,=N, (D) F=N,=N,
s k

m| i m

T Y ,
A block of mass m slides with speed v on a frictionless table towards another stationary

block of mass m. A massless spring with spring constant k is attached to the second block
as shown in figure. The maximum distance the spring gets compressed through is

m_ m k | |k
(A) Yv (B) Ev ©) \/’gv (D) 2mv

3 T BRER B m o@e @3 39 v @Ot W @B m SR i 3w e
a3 | g7 33la e k ek g3 REE a3 Fo b wie (Bra emfe) | b
TR IS~ 23 X

' m | k L
(A) J%v B ‘/—2—-:v ©) \/gv (D) 2m,v

=
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020 35 > Xmnm

The acceleration vs distance graph for a particle moving with initial velocity 5 m/s is
shown in the figure. The velocity of the particle at x = 35 m will be :
(A) 20.62m/s (B) 20m/s ©) 25m/s (D) SOm/s

mmﬂfwawwmmmwuwmmﬁwmsm/snw
x =35 m, O¥ b7 sferan 2@
(A) 20.62 m/s (B) 20 m/s (C) 25m/s (D) 50m/s

A simple pendulum, consisting of a small ball of mass m attached to a massless string
hanging vertically from the ceiling, is oscillating with an amplitude such that

Tnax = 2Ty, where T, . and T,n are the maximum and minimum tension in the string
respectlvely The value of maxlmum tensxon T 4 10 the string is

@ & B m O ) img

m ©FA G3I0 FG (NI T W G0 ©aR o AR fHifele [ @I
MR | AR AT Tinax = 2 Tinin T, WmeTmmmewﬁa
A4 8 ST B | TIWTR ACESE B Tipa - 97 W TR

) 8 ®) mg © =& D) Img

In case of projectile motion, which one of the following figures represent variation of
horizontal component of velocity (u) with time t ? (assume that air resistance is
negligible)

AT TR, m«uw@m (u)m(t) ML TSI ﬂﬁaﬁwnwﬁm

mﬁmmﬁr
? . 'ix ‘
4) /\ ®
>t SR >t

©) \ ~ | - D
»t
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13. A uniform thin rod of length L, mass m is lying on a smooth horizontal table. A
horizontal impulse P is suddenly applied perpendicular to the rod at one end. The total
energy of the rod after the impulse is

P’ 7P? 13p* 2P’

D s

@3B m ©T 8 L ER ¥ 7S G Tt e BRER 8o a4l o | v e
oS BT Y W WYAT O WFAR P WIS T FA e | VOIS LA A7

wefbe G e 2

p? 7pP2 13p? 2p?
S —c , D} =
() M (5 8M © M D) M

14. Centre of mass (C.M.) of three particles of masses 1 kg, 2 kg and 3 kg lies at the point
(1, 2, 3) and C.M. of another system of particles of 3 kg and 2 kg lies at the point
(-1, 3, =2). Where should we put a particle of mass 5 kg so that the C.M. of entire system
lies at the C.M. of the ﬁrs; system ? |

A) G.1,9) ®) ©,0,0 © (1,3,2)' | D) (-1,2,3)

1 ke, 2 kg 8 3 kg O34 qFf FUPRYR SAFF (1, 2, 3) UG MZ 1 3 kg S 2 kg ©EFF
AR G TG SAFG (-1, 3, —2) KT w—a¥® | 5 kg ST &7 G2 T (I
T A T RYE SAFH 8 AT FAPRYR OAFY 9F2 (A ?

A) (.19 B) (0,0,0 © 1,32 D) (-1,23)
15. A body of density 1.2:x 10% kg/m? is dropped from rest from a height 1 m into a liquid of
/ density 2.4 x 10 kg/m3. Neglecting all dissipative ef‘f‘écts, the maximum depth to which
the body sinks before returning to float on the surface is
(A) 0.1m B) Im (©) 00lm D) 2m

1.2 x 10® kg/m?* ¥0GH 93 T EAREH 1 m To6O! A0F 2.4 x 103 kg/m? ¥R 9B
WWMW|WWWMWW,WWWWW
et <6 T INES SRSt o8 1 IR O W

(A) 0.1m B) 1m (C) 0.0lm (D) 2m

.é.-”_..__ﬂ,..__ s e e . b o s . S . s e o, e,
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Two solid spheres S, and S, of same uniform density fall from rest under gravity in a
viscous medium and after some time, reach terminal velocities v, and v, respectively. If

v .
ratio of masses M _ g, then — will be equal to
m, \2
1 1

A) 2 ®) 4 © 3 @)

T T D €T T S, © S, G G M 0 e (4 SewEw T
oI ASTN | R 513 OIS 28 T A TH v, 8 v, | O ST S7Te SL-g

2

P

(A) 2 B) 4 ©) D)

N | —

3

Vo .2V0= v
In the given figure, 1 represents isobaric, 2 represents isothermal and 3 represents
adiabatic processes of an ideal gas. If AU,, AU,, AU, be the changes in internal energy in

these processes respectively, then
(A) AU, <AU, <AU; . (B) AU, >AU; <AU, .

(C) AU, =AU,> AU, (D) AU,>AU,> AU,

ot BT S T STt (1), ST (2) @ FFeiet (3) afemanefer R =0 | T
4% sfeFmefere SEEd AfRRET TEF AU,, AU, 8 AU; TF, O3

(A) AU, <AU, <AU, . (B) AU, > AU, <AU,
(C) AU, =AU,>AU; (D) AU, > AU, > AU,
If pressure of real gas O, in a container is given by P = 2—31—6 - —ay,then the mass of
the gas in the container is
(A) 32gm (B) 16gm (C) 4gm (D) 64 gm
af® “N A4 Frg R IR AT O, 51 P = ;/‘_Tb _ I;TﬁW‘T%WWI
(A) 32gm (B) 16gm (C) 4gm (D) 64 gm
, T i et S e
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300 gm of water at 25 °C is added to 100 gm of ice at 0 °C. The final temperature of the
mixture is

(A) 12.5°C (B) 0°C (C©) 25°C D) 50°C

0 °C TWEI 100 gm ILTF 25 °C TWSH 300 gm BT T T4 | et s St g

(A) 12.5°C (B) 0°C (C) 25°C (D) 50°C

v

The variation of electric field along the Z-axis due
radius ‘a’ in XY plane is shown in the figure. The

(A) % ®) 2 ©) 1

to a uniformly charged circular ring of
value of coordinate M will be

1

) 5
TSR W @3 2’ ARG Jorm Re XY o e | -9z W%z o g
/T Z 30T SR Ry Bra vt o | MR gz

1 _ 1

— O 1 D
@) 2 B) 2 ©) ® - |
A metal sphere of radius R carrying charge q is surrounded by a thick concentric metal

shell of inner and outer radii a and b respectively. The net charge on the shell is zero. The
potential at the centre of the sphere, when the outer surface of

the shell is grounded will
be
1
q (11 q 1 c _q_(L_l) o 41
4) 4neo(a b) ®) 4ne, a © 4ney)\R a 4ne, R

@3 q YR el R UG 4o e werR @3 At el oz rews wa
mqm|mmmwaemmwb.mmw
I | TR AR 8 G- 91 A [ ICH SR -Reraw W 2@

q (1_1 9 1 C L(_I__l) o 41
(&) 41teo(a b) ®) dne, a ©

4ne,\R a 4ne, R

e o o T
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22. Three infinite plane sheets carrying uniform charge densities —o, 20, 40 are placed
parallel to XZ plane at Y = a, 3a, 4a respectively. The electric field at the point (0, 2a, 0) is

S50 » 70 4 c 4 56 »

—_ B L A C e ”

(A) 2301 (B) 2801 ©) 2801 (D) _2801

WWWWWW@?W—G,2GG40@:WWXZW

TSI ST TAFT Y = a, 3a 8 da (S SAFS | Awefe™@ &1 (0, 2a, 0) 4w
70 2 o~ 5S¢ »

56
(A) 2, (B) " 2e, - © 26, | (D) “2e,) -

23. Two point charges +q, and +q, are placed a finite distahce ‘d’ apart. It is desired to put a
third charge q; in between these two charges so that q is in equilibrium. This is

(A) possible only if q; is negative. (B) possible only if g5 is positive.

(C) possible irrespective of the signof q;. (D) not possible at all.

B R S +q, 8 +q, T (I d VE0Y SRS | G o S g, % 76 {77
IR SIES! BT A g, A AT | @off 78T

A) T g, NGF T | (B) M q, 4IGF TH |
©) g, BrEamPsaaTm (D) I FEINT T |
24 1¥
is
< o) >X
Me 5
v

Consider two infinitely long wires parallel to Z-axis carrying same current I in the
positive Z direction. One wire passes through the point L at coordinates (-1, +1) and the
other wire passes through the point M at coordinates (—1, —1). The resultant magnetic

field at the origin O will be
pol 2 pol pol = I
(A) EW B) - C 0 BoZf
2 21‘[J | (B) ' J ©) 2\/5111 D) . 1

Z SOwa TR S S TR g OIad Wy AT ¢ 2 S q319E [ SR I |
q3fS o (- 1, +1) T0F L 9= W faew 8 Wk orfb (-1, 1) geeE M g Wy fRow
#NH I | FART O TS 9 HE OIES & 91§ BIFd JREIE W @

pol 2 Mol 4 Mol 2 - Is
A _j._ B) oo 0 Mol 2
@) 2 21rJ o 21:'l © ml ®) 41tl

C A TTPT.0.
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A thin chérged rod is bent into the shape of a small circle of r.adius 'R the c¥1arge per unit
length of the rod being A. The circle is rotated about its axis with a time period T and it is
found that the magnetic field at a distance ‘d’ away (d>>R) from the center and on the

m )
The values of m and n respectively are

axis, varies as &
(A) m=2n=2 (B) m=2,n=3 (C) m=3n=2 (D) m=3 =3
¥ RS 73 7S R IPMER 93 FE 08 *RIS 391 291 ¢ 2 g7 ey wrmg

SR e ) | JOTE O W F9IE T A fACH ORI < et 3, 2 (e
WF TR A d-09 (d>>R) BIAFRET 20 | PR m &3 n 7 T T
(A) m=2,n=2 (B) m=2,n=3} (€) m=3,n=2 (D) m=3,n=3

26. 1/
A
B
>T
For two types of magnetic materials A and B, variation of l(;( . susceptibility) vs.
. X
temperature T is shown in the figure. Then
(A) A is diamagnetic and B is paramagnetic.
(B) A is feromagnetic and B is diamagnetic.
(C) A is paramagnetic and B is feromagnetic.
(D) * A is paramagnetic and B is diamagnetic. »
S BER IHIE A @<t B 7 TRTA O T <@ MR L (3 : BT opeeren)-a9 ofaed
x .
e RIeT 2R | R
(A) A 0% 9 B RO (B) A SETHITF <= B fapeiys
(C) A *RIBINT 932 B SACHITS (D) A RGNS 92 B arsive
27. Vv 4
Vo
, iy
0 T2 T
The rms value of potential difference v shown in the figure is ’
Yo B) v ) 2 D) L
@ = B) v, ().73- (D) ;
fora e wfbvsreraat- sty terefbra féssre e rms W 7@
XQ C A\’ D) Vv
(A) > (B) v, © 7% ()_ﬁ --------
C 12
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Red Yellow Orange

A carbon resistor with colour code is shown in the figure. There is no fourth band in the
resistor. The value of the resistance is

(A) 24MQ+20% (B) 14kQ+5% (C) 24kQ+20% (D) 34kQ110%
3 T TR S TNl BT T TCHE | THICE T3 bigd 36 79 TR |
e Y T

(A) 24 MQ+20% (B) 14 kQ + 5% (C) 24kQ+20%

L

—

()

\"Jv = v, sin wt
Consider a pure inductive A.C. circuit as shown in the figure. If the average power
consumed is P, then

(D) 34kQ+10%

(A) P>0 (B) P<0 (C) P=0 (D) P is infinite
(33 SIS 7Z Brd e A.C. 9 R 39 | 76 FT©! P T,
(A) P>0 (B) P<0 (C) P=0 (D) P-<3F T AT
y
X

The cross-section of a reflecting surface is represented by the equation x? + y? = R2 as
shown in the figure. A ray travelling in the positive x direction is directed toward positive
y direction after reflection from the surface at point M. The coordinate of the point M on

the reflecting surface is
R R

o 38 ® (38 0[5y o3
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Category-II (Q 31 to 35)
; one option is correct. In case of incorrect answer or any
combination of more than one answer, %2 mark will be deducted.

mmlmmﬁmzmmw@wﬁmwmm qfiE e

Carry 2 marks each and only

et v v ST AR |
31 li Or a plane electromagnetic wave, the electric field is given by
E=90sin(0.5x 103 x4+ 1.5 x 10! t)k v/ m. The corresponding magnetic field B will be
I NS SfEepaI SArr TR, SR E E 97 6T 25
E=90sin(0.5x 103 x4+ 1.5 x 1011 kv /m. BHICES B 93 5430 2@
(A) B=3x107sin(0.5x 103x+1.5 x 10't) | T
(B) B=3x10"7sin(0.5x 103 x + 1.5 101 jT
(€©) B=27x10sin(0.5x 103 x + 1.5 x 101 jT
(D) B=3x107sin(0.5x 103x+ 1.5 x 10'4¢) kT
32.

Two metal wires of identical dimensions are connected in series. If o, and o, are the
electrical conductivities of the metal wires respectively, the effective conductivity of the

combination is

o,c 20,0 c,+0
A) o,+0o By —1-2_ Cc) =/1-2 (D) 1 2
(A) 1772 ®) 0,+0, © c,+0, 20,0,

I TR S 4O SR TR AT T 91 T | T 0 o ofve ARRzes
0,9 0, ¥, I U2 FRICHA 9o AfiRers 2@

5102 © = (D)

0, +0,

(A) o, +o0, (B)

33. A uniform rod of length L pivoted at one end P is freely rotated in a horizontal plane with
an angular velocity ® about a vertical axis passing through P. If the temperature of the

system is increased by AT, angular velocity becomes % If coefticient of linea; expansion

of the rod is a (o <<1), then AT will be 1 .
1 1 o L D)

(A) o (B) g © ™ D) «

g2l 2% P R WGIIA S L (AT b ¥ 7o o (e R0 Wi o

p g Wy Ty BEY SR AT TIRICH TOR | AR STl AT IR A ZCA

@ RUR TN T %’- | % WS OTGT TR O o (ot <<1) TSI AT aajmw

1 1 oy
1 1 C) — D) a;
(A) < (B) 20 © 4o
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An ideal gas of molar mass M is contained in a very tall vertical cylindrical column in the

uniform gravitational field. Assuming the gas temperature to be T, the height at which the

centre of gravity of the gas is located is (R: universal gas constant)

RT RT
A) — B) —
(A) " (B) Mg
(C) MgR (D) RTg

aaﬁwwﬁwﬂmﬁw,wmmeWWﬁnqumw
mumwmrmﬁm,mmmmwwwﬂﬁ(&

FEEAA M §39)
RT

RT
A) — B) —
(A) : B) Mg
(C) MgR (D) RTg

Under isothermal conditions, two soap bubbles of radii a and b coalesce to form a single

bubble of radius c. If the external pressure is P, then surface tension of the bubbles is

P(c’-a’+b’) | P(c’-a’-b’)
*) 4(a’ +b>-c?) ®) 4(a’+b?-c?)
P(c’+a’-b?) P@*+ b’ -c?)
© 4@ +b’-c’) ® 4(a +b*-c?)

2 G b PICER A AR TR e A GFIHS T ¢ APMER 93 | tofd
%371 | T ARTS 5191 P TF, O T OA TR

P(c’-a’+b’) P(c*-a’-b’)
A) ————~ B) ' eyt
4(a +b*-c?) ®) 4a+b>-c?)
©) P(c’ +a’~ b’) D) Pa’+ b’ -c%)
4@’ +b’- ) 4(a?+b?—c?)

13 S % ¢}
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s then score = 2 x number of correct

] - If any wrong option is marked orif
any Combinatiop in i '

wrong option is marked, the answer will be considered wrong
but there i no negatiy

¢ marking for the same and zero mark will be awarded.

towards a sma]] closed cir

(see figure). Assume x>
Statement(s) is/are true ?

(A)

cular conducting loop of radius ‘a’ with its centre O at x = (

a and the coil has a resistance R. Then which of the following

Magnetic field at the centre O of the circular coil due to the bar magnet is =

x
(B) Induced EMF is proportional to L4
0%

(C) The magnetic moment K due to induced current in the coil js proportiqnal to a*

(D)  The heat produced is proportional to L«s
X

M BIFFaEws ooy 93 FY TOpET 1 TH
ofﬁar?ramaf%@ﬂﬁsﬁmqm'wo,p
T4 R | O 63 3, S/ 8fmefer orwy 9

(A) wmwwmﬁam%ﬂwmm%

X

TV WO 2 IPMER 9 Jarre
Oﬁ'ﬁmml‘fﬁmx»akﬁtﬂt’ﬁ

1
(B) Wﬁtvf%mmzax—“-mm*’ﬂﬁw

©) ?Immwﬁwﬁwamwmtﬁwmﬁ
1
(D) ﬁxwvﬁ'ﬂﬁvy-mm’ﬂml

. o atns sovrmtsna. o 4

s e e o

-9 AAAES |
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37. Electric field component of an EM radiation varies with time as E = a(coso,t + sinot

38.

C

cos,t). where ‘a’ is a constant and © =10' sec™!, o) = 5 x 10!3 sec™!. This radiation

falls on a metal whose stopping potential is -2 ev. Then which of the following

Statement (s) is/are true ? (h = 6.62 x 10734 J -S)

(A) For light of frequency w, photoelectric effect is not possible

(B) Stopping potential vs. frequency graph will be a straight line

(C) The work function of the metal is -2 ev.

(D) The maximum kinetic energy of the photo electrons is 1.95 ev.

3> SfEpr RIFAIT SfFSTFA E = a(cosw,t + sinot coswpt) HCT Af3fSS 27 |
QYA ‘a” 9 §39, © =105 sec™! 8 @y = 5 x 1015 sec™! | 4T Rz @af -2 ev @

3 o1 4R #ATST ToF WoAfo® 77 | O MNH (PR Sfee/ Sewafet 77 ?
(h=6.62x 10734] -8)

(A) o FIER RIFE0E oy ST fes i 3o 79 |
@) FEd e 8 F=IEa weba ¢l e |

(C) €93 I AFF 2 ev |

D) @Q’WWWWL%WI

P
4
2Po C

1 :
Po B A

>V

Vo 2Vo , ,
Consider the P — V diagram for 1 mole of an ideal monatomic gas shown in the figure.
Which of the following statements is/are true ?

(A) The change in internal energy. for the whole process is zero.

(B) Heat is rejected during the proceyss

(C) Change in internal energy for process A > Bis- %POV0

(D) Work done by the gas during the entire process is 2PV,
% T 3 S % SRS R P - V T T T0He | 1 O/ Sferefe

7T 7
(A) e et SR AR |

B) sfFabre o e 24|
(C) A —> B #ffiFam e AReE %POVO

(D) g efferaw M IS Ford 2P,V | .

e e M ot 21 . 4o, 480 55 S 5S8R AL B4 VSRS b SR 2R ,-.,.._..“-..,._l.:7._.._ P.T..().
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The potential energy of a particle of mass 0.02 kg moving along x-axis is given by

V = Ax (x - 4)J where x is in metres and A is a constant. Which of the following is/are
correct statement(s) ?

(A) The particle is acted upon by a constant force.
(B) The particle executes simple harmonic motion.
(C) The speed of the particle is maximum at x =2 m.

(D) The period of oscillation of the particle is %sec.

x-S T N 0.02 kg ©RFX 4B TN FEMEF V = Ax (x - 4)), IR A 97B
T G x om 93 gfre | Ae R B/ Sfemefer ey ¢ .
(A) FOT AT LIS AR T EIF | ~(B) I e TS o IR |

© x=2mREEIMIRIHERF = D) wﬁ»‘amﬁﬁzwgm

a ! b | Cc
11X X X
| 1
PS > |>< X Xl
l)( X Xl
| |
L
<>

A particle of mass m and charge q moving with velocity v enters region-b:from region-a
along the normal to the boundary as shown is the figure. Region-b has a uniform
magnetic field B perpendicular to the plane of the paper. Also, reglon-b has length L.
Choose the correct statements : _

: . LB
(A) The particle enters region-c only if v> qT
qLB
(B) The particle enters region-c only ifv< — -

(C) Path of the particle is a circle in region-b

(D) Time spent in region-b is independent of velocity v

s Bras W@, m ©F 8 q WY @I FU v =& 2~ (U (O O
22AE b-WWTH AT I | b-WSADT W 7R R A AV G AW BIFCFA
B &I | T b-SwTeE (14 L T O A 1 B/ T fer 1oy ¢

(A) W c-WeH ot A Wty > I8

(B) D c-wTH AT FAI W v <qupr

(C) b-TeTH FDT AW JBFH |
(D) b-oeTA F WAt A Ty A v-«a7 Tofa AT A

o B, SORANY R LR AP MOE Sat BT AT SO

P e l

Ay S,
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CHEMISTRY
Category-I (Q 41 to 70)

Category-l Carry 1 mark each and only one option is correct. In case of incorrect answer

41.

42.

43.

o s,

or any combination of more than one answer, 4 mark will be deducted

<o Bur AR¥ | M¥ Bux A 1 77 MR | w1 B3 Pie wwal 17 3 9IS T
e v T It |

The exact order of boiling points of the compounds n-pentane, isopentane, butanone and
1-butanol is

(A) Dp-pentane < isopentane < butanone < 1-butanol

(B) isopentane < p-pentane < butanone < 1-butanol

(C) butanone < p-pentane < isopentane < 1-butanol

(D) I-butanol < butanone < n-pentane < isopentane -

n-UC0R, WREHCICSH, RESEAR ¢ 1 ﬁsmacﬁmﬁawmmm
(A) D-CACOT < WREMCATO < REGIAR < 1-REBIe
(B) WETAITHA < n- < R < 1-REBe
(€) REBIAR < n-TIrD < WREMATHA < 1-REGA
(D) 1-REBF" < REBIGAR < n-T0BT < HEEMCATHA

The maximum number of atoms that can be in one plane in the molecule
p-nitrobenzonitrile are :

(A) 6 B) 12 © 13 ' (D) 15
p-IEERWERNEA Soa G O AR AT GF TS AT AL =

(A) 6 B) 12 ©) 13 ' (D) 15

Cyclo [18]carbon is an allotrope of carbon with molecular formula C,,. It isa ring of 18
carbon atoms, connected by single and triple bonds. The total number of triple bonds
present in this cyclocarbon are

A 9 (B) 10 © 12 D) 6

C,g TARF HCFS R A [18] 7 N IR 93 Fowrew | 18 B 316 @2
PouADE I 8 T T 7o | 9 IS o TG faqatTa Hedn e

A) 9 (B) 10 - © 12 (D) 6

p-nitro — N, N — dimethylaniline cannot be represented by the resonating structures

p-&G - N, N -CrRfRrZaAnfAfer (397 T 95 Q11 oM 31 I 1 Grefer 2

0]
® 20 z
NG G Wy

M ()
e 0
® ® O ® _FZ
s I
(I . v .
(A) Iandll ~ (B) HandIV (C) TandII (D) Tland IV

19 P.T.O.
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1. +Hm +

COOH

Cl
>——< . _
The relatlonshlp between the pair of compounds shown above are respectively

(A) Homomer (identical), enantiomer and constitutional isomer

(B) Enantiomer, enantiomer and diastereomer
(C) Homomer (identical), homomer (identical) and constitutional isomer

D) Enantiomer, homomer (identical)and geometrical isomer
Borra o A BTG @fora ST a3 71 2 T
(A) TRICHIE (T71), ARSI ANTAL G 15T TAIH
®) R TR, AfeRT T, SSRGS
(C) TRICATNIR (7o), TRICHA (1), AEF FATI

D) aﬁﬁ’im TRICAE (&) G Sffes AR -

The exact order of acidity of the compounds p—nitrop_henol, acetic acid, acetylene and
ethanol is ‘
(A) p-nitrophenol < acetic acid < acetylene < ethanol
(B) acetic acid < p-nitrophenol < acetylene < ethanol |
(C) acetylene < p-nitrophenol < ethanol < acetic acid
(D) acetylene < ethanol < p-nitrophenol < acetic acid
p-TEEICE, WCHe wifre, Suibfem tmarﬁmﬁamwmwémw
(A) Q-WW<WWW<WW<W
(B) WIS WIfE < p-ARGLFT < SHCADR < Beier
(C) IR < p-TRECE < FUeT < WA WIS
(D) WICHfeR < Bever < p-TEGET < S wnbe

Q)

U
A — =

20
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47. NH, N .
N O,H
1. Me)ﬁrNVCOzH 2. Me)\'( \l/ 2
0 o CH

H
H
T OGRS et
(0 Me 0

The dipeptides which may be obtained from the amino acids glycine and alanine are
(A) onlyl (B) only2 (C) bothland2 (D) allofthem

mﬁmwﬁwmsmﬁawmmﬁmmwmmﬁm
(A) ¥ 1 (B) TFITu@2 © Tsmiax2 (D) el

1. dil HC!/
48. Benzaldehyde + methanol —> A- 5
HC! 2. (CH,;C0),0
- CH,;COONa
REASRIES + feme A LRS! | g
HCI 2.(CH;C0),0
CH,;COONa

The compounds A and B above are respectively |
BT A 9 B TRY AT

. |
@ Y wa S
cl :

Ph _~OMe 4 PhCOCH;

(B)
OMe

OMe

21

P.T.O.
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49. For a's
on .
ponianeous reaction at al temperatures which of the following is correct ?

(A) Both AH .
and AS are positive (B) AH is positive and AS is negative

(C) ' AH is negative and AS is positive (D) Both AH and AS are negative
TR @3 Torgs R Ao TG W (A S 2

(A) AH s AS Tox% o (B) AH 47Ig%F 8 AS ¥NGS
(©)  AH ¥MGF s AS WG (D) AH 8 AS ToI% 4T

0. Agiven amount of Fe?* is oxidized by x mol of MnOf, in acidic medium. The number of

moles of Cr,0 %‘ required to oxidize the same amount of Fe* in acidic medium is
A) x (B) 0.83x (C) 2.0x (D) 12x
e ST, RWE A Fet x THF MnO; W81 WS 2% | G Waew @ #fam

Fe?* @3 SRS &1 T3 (3T 5% Cr, 03~ ATA b 2 |
A) x (B) 0.83x (C) 2.0x D) 12x

S1. An element crystallizes in a body centred cubic lattice. The edge length of the unit cell is
200 pm and the density of the element is 5.0 g cm3. Calculate the number of atoms in

100 g of this element.
(A) 25x108 ~ (B) 25x10* (C) 5.0x10%

mmmwme|WWmmmm
2oopmm:cﬁlraawﬁ5.0gcm'-3|100g@tﬁrﬂmvrwﬁcﬁr¢a|
A) 2.5x10% (B) 2.5x10% (C) 5.0 ><_1023 (D) 5.0x10%

Molecular velocities of two gases at the same temperature (T) are u, and u,. Their masses

(D) 5.0x10%

52.
are m, and m, respectively. Which of the following expressions is correct at temperature T ?
(A) Ln%=in% (B) mju, =m,u,
u U
© L (D) myu?=mu,’
u U

% S (T), A MR SR A Uy @R u, @R GO T ST IAETH m,
mmzmrwmﬁgﬁﬁwﬁammﬁwﬁw

(A) E%_=_n_‘22_ - (B) myu = myl,
u U
| - m.u.2
© === (D) myu,*=mg,
u U, | -
e 22"
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When 20 g of naphthoic acid (C;,Hg0,) is dissolved in 50 g of benzene, a freezing point
depression of 2K is observed. The vant Hoff factor (D) is [K;=1.72K kg mol 1]

(A) 0.5 (B) 1.0 ©) 20 . (D) 3.0

20 g TIMARF WS (C,,Hg0,), 50 g TAUTH TGS 20e1 RAFH SRANE TR T 2K |
5 TF FIBF (i) Q3 AN 7 [K, = 1.72 K kg mol~!] '

(A) 0.5 B) 1.0 © 20 D) 3.0

The equilibrium constant for the reaction N, (8) + O, (g) = 2NO(g) is 4 x10 at 2000 K.

In presence of a catalyst the equilibrium is attained 10 times faster. Therefore, the
equilibrium constant, in presence of the catalyst at 2000 K is

(A) 4x10* B) 4x103 (© 4x107 (D) 2.5x10*

N, ®+ O, (8)= 2NO(g), 2000 K @iy Rferaa 7y 3w w9 4 x10 |
SROTF SAfEfere Al 10 ot g e e Tofe z&E, 2000 K S
W@ﬂﬁﬁwmmmm '

(A) 4x10% (B) 4x1073 | (©) 4x10°5 (D) 25x10*

Under the same reaction conditions, initia] concentration of 1.386 mol dm™3 of a
substance becomes half in 40 s and 20 s through first-order and zero-order kinetics

respectively. Ratio (%] of the rate constants for first-order (k,) and zero-order (k) of
0

the reactions is ‘
(A) 0.5 mol™! dm3 (B) 0.5mol dm™3
(C) 1.0 mol dm™ ’ (D) 2.0 mol™! dm3 :

G 1 ACATE, 9B AR T MY 1.386 mol dm WHF RIS (S JATTH
& 40 s @32 *er-Trw RFEFAT 20 s T ACH | ALT-TH (k) TR TT-TFH

(%)mqmammww [ﬁ) ==

ko
(A) 0.5mol™! dm3 (B) 0.5 mol dm™3
(C) 1.0 mol dm™ (D) 2.0mol™! dm?
Which one of the following solutions will have highest conductivity ?
(A) 0.1 M CH,COOH (B) 0.1 MNaC/
(C) 0.IMKNO, - (D) 0.1 MHCI
frafefie geefer T b wefrs sfafRer &t ¢
(A) 0.1 M CH,COOH (B) 0.1 MNaC/
(C) 0.1 MKNO, (D) 0.1 MHC!

23 -.i——. Pcho-
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Indicat
ate the products (X) and (Y) in the following reactions :

fte ()@= (v) e = :
Na,S+nS(n=1 -8) > (X)
Na(2§)03 +8 - (Y)
(A) Na;$,0, Na(,ZYS)2
(B) NaZS(nH) Na,S,0,
© Nas, Na,$,0,
(D) Na,S; Na,S,0,

2.5 ml 0.4 (M) weak monoacidic base (k, =1 x 10712 at 25 °C) is titrated with %(M)

HC! in water at 25 °C. The concentration of H' at equivalence point is (K, =1 x 107 14 at

25 °C)
(A) 3.7x10°13 (M) (B) 32x107 M)
©) 32x102(M) D) 27x102M).

25 °C Swor, T TR 2.5 ml. 0.4 (M) @I 7 q-WFers ®EE (k, = 1 x 1072,
25°C W)%(M) HC B39 9 BrAE=A. 39 =1 | grwet fqee H @< g =&

(K, =1x 10714, 25 °C TR)

A 37x1083 M) (B) 3.2x 1077 (M)
(©) 32x102(M) (D) 2.7x 1072 (M)

Solubility products (Ksp) of the salts of types MX, MX, and M;X at temperature T are
4.0 x 108, 3.2 x 10714 and 2.7 x 10713 respectively. Solubilities (in mol dm™) of the salts

at temperature T are in the order
(A) MX>MX, >M;X (B) M;X>MX,>MX

(C) MX,>M;X>MX | (D) MX>M,X>MX,
T wemEE |, foB oke MX, MX, 9% M,X 9% BRIl @Ise el U@
4.0 x 108,32 x 10714 @R 2.7 x 10715 | T @y & &6 s @_rer (mol dm™)

WA TN AR

(A) MX>MX,>M;X (B) M;X>MX,>MX

(C) MX,>M;X>MX (D) MX>M,;X>MX,

The reduction potential of hydroen half-cell will be negative if

'(A) p(Hy=1atmand [H]=1.0M (B) p(H,)=1atm and [H1=2.0M

(C) p(Hy)=2atmand [H]=1.0M (D) p(H,) =2 atm and [H1=2.0M

TIRGIE o%-(RI0Ed et Req 4oree T2 W

(A) p(H,)=1latmand [H']=10M (B) p(H, =1atmand [H1=2.0M
(C) pHy=2atmand [H]=1.0M (D) p(H,) =2 atm and [H1=2.0M

C
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62.
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A saturated solution of BaSO, at 25 °C is 4 x 1073 M. The solubility of BasO, in 0.1 M

Na,SO, at this temperature will be -
(A) 16x10°M (B) 16x10°M (O 4x106M (D) 4x10*M

25 °C Q@ BaSO,-9¥ ¥ =& AW MY 4 «10-5 M | @% Sw@® 0.1 M b
Na,5Q, T30 BaSO,,-% Wye! T :

A) 1.6x10°M (B) 1.6x 108 M
A solution is made by a concentrated solution of Co(NO5),
of NaNO, in 50% acetic acid. A solution of a salt containin

mixture, when a yellow precipitate is formed. Metal ‘M’ is: ;
(A) Magnesium (B) Sodium (C) Potassium (D) Zinc

CO(No_,,)z-mwmmso%mmzwﬁWNaNozmaﬁwmﬁﬁww
mlemawWwﬂWmmﬁwwaﬁwmﬂﬁWI
qe ‘M’ == | |
(A) NPT (B) TAfeaw (C) = - (D) &=

Extraction of a metal (M) from its sulfide ore (M,S) involves the following chemical

(C) 4x10°M (D) 4x10%M
with a concentrated solution
g metal M is added to the

reactions :
IM,S +30, —2€8 5 2M,0+250, 1

M,S +2M;0 —2 ' 6M + 50, T

The metal (M) may be
(A) Zn B) Cu (C) Fe (D) Ca

WMWW_W(MZS)WWMWWW

faferanefer 06 AT | |
IM,S + 30, —8L 5 2M,0 +250, 1

M,S +2M,0 —¢8, 6M+50, T
(M) 43 TS AR | : :
(A) Zn B) Cu . (© Fe (D) Ca

The white precipitate (Y), obtained on passing colourless and odourless gas (X) through

an ammoniacal solution of NaCl, loses about 37% of its weight on heating and a white
residue (Z) of basic nature is left. Identify (X), (Y) and (Z) from following sets. .

SRR NaCl 907 G IR 8 TG M7 (X) BTl FCT T7 A1 SETHA (Y)
’"Wm,mﬁw@wmmemmn%mmmmmﬂwﬁm

(Z) AF | Ap3 TBef [AF (X), (Y) 9 (Z) e F41

X (Y) @) .
(A) N, (NH,),CO;  NH,C/ .
B) 0,  NaNH,CO;  NaHCO;
(€©) CO,  NH,HCO, (NH,),CO;
‘D) CO,  NaHCO;, Na,CO,

' 25 ) . “P.T.O.
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W .
hich structure has delocalised n-electrons ?

A .
;ﬂ)q o} ®) CO (©) HCN () O, andHoy
(A) W RFMEES (delocalised) n-3[FRRN IR ? :

o, - ® co ey @ 0,y

The H;0" ion has the following shape
(B) Pyramidal

(A) Tetrahedral

(C)  Triangular planar (D) “T” shaped
H;0" 9t s fAgaet

(A) PEIARFY . @) Prafifes
(C) Iefers farFe (D) “T” WFfSH

For the reaction “N(a, p)!70, 1.16 MeV (Mass equivalent = 0.00124 amu) of energy is
' d proton mass = 1.00782 amu.

absorbed. Mass on the reactant side is 18.00567 amu an

The atomic mass of 70 will be
(A) 17.0044amu (B) 169991amu (C) 17.0114amu

14N(a, p)V70 TEEE R 1.16 MeV (SHIEerel = 0.00124 amu) & TN¥® T
fAfFgrRR *mida e o9 18.00567 amu IR AR 9 = 1.00782 amu (T 170 @3

AT ©F T
(C) 17.0114 amu (D) 16.9966 amu

(A) 17.0044 amu (B) 16.9991 amu
when treated with a mixture of Zn dust and ‘A’ yields ammonia.

(D) 16.9966 amu

A solution of NaNO;,
‘A’ can be

(A) caustic soda i (B) dilute sulphuric acid

©) concentrated sulphuric acid (D) sodium carbonate :
NaNO, «% 1 Zn AT TR ‘A’-MWW@MW@WRMN'
‘A, W m . | |
(A) B3 Tl (B) Y AAFERT WiFT©
©c) ™ HAREAF ST (D) T IACEHG

I sicate the number of unpaired electrons in K;[Fe(CN)g] and K [Fe(CN)q
K ,[Fe(CN)] % K4[Fe(CN)] < e ARG A AT IR

K,[Fe(CN)gl  KilFe(CN)g]
0

(A)

(B) 2 ; '

©) e 1

(D) 0

which of the following compounds have magnetic moment identical with [Cr(H20)6]3+ /4
B) [Mn(,0)* (©) [Fe(H,0) " (D) [Mn(H,0)4*

(A) [Cl-l(HzO)6]2+
B BIIFEAS [Cr(H,0)]*" % T (A 2
(A) [Cu(HzO)efl _”SE) [Mn(H,0);** (C) [Fe(H,0)** (D) [Mn(H, 0)l**

26
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Category-II (Q 71 to 75)

Carry 2 marks each and only one option is correct. In case of incorrect answer or any
combination of more than one answer, %2 mark will be deducted. '

o Buw A% | A Bww Rr 2 79T N | g B fiee wew T8 A e Tew
A ¥ wwa IO AR

71. Among the following chlorides the compounds which will be hydrolysed most easily and
most slowly in aqueous NaOH solution are respectively N

1.  Methoxymethyl chloride 2. Benzyl chloride
3. . Neopentyl chloride _ 4.  Propyl chloride :
(A) land3 (B) 2and3 (C) 2and4 (D) 3andl

AT FETCSRR WU 7 TRefE W NaOH war s-Cse! 7erer a3 T

1. feffReEs e 2. WEZAFERS
3. RerroRe FRRe 4. TR FRRS
A) 143 (B) 293 ©) 244 (D) 391

"The products X and Y which are formed in the following sequence of reactions are

respectively
dil HNO; 1. Zn/HCIL,A
Phenol — X , >Y
2. (CH,C0),0 (1 equiv.)
Az RfFawm Teofe X R Y THMD T I
, #9 HNO, " 1. Zn/HCLA

" 2. (CH,C0),0 (1 77I®) -

-G &

72.

Pheno

NO NH, NO, NH,
OH H H H
©Q~ © o © =
COCH,
NO, NHCOCH,3 NO NH, .
Ty ~ P.T.O.
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amu respectively. The value of

73. .
3. The atomic masses of helium and neon are 4.0 and 20.0 . |
the de Broglie wavelength of helium gas at — 73 °C is M times the de Broglie wavelength
of neon at 727 °C. The value of M is :
' 1
1 —
@ s ®) 25 © 3 @3
T T iy am———— Y RS 73 °C ‘Swor Rfmm
e & ofer waor eaedia w1 727 °C seerg frae o ot o7 CCTF M OTIM @
TH A
1
@ 5 ® 25 © 3 @ 3
74. The mole fraction of a solute in a binary solution is 0.1. At 298 K, molarity of this
solution is same as its molality. Density of this solution at 298 K is 2.0 g cm™. The ratio
of molecular weights of the solute and the solvent (Mg puee/Msotvent) is
1 . 1
A) 9 ® 3 (©) 43 ®) 75
@ fR-FaC (binary solution) A e et =1 0.1 1298 K e, @ ¥R
mmwmmmmmmmwmwgcm4 | AR
I e TR e (l\'Isolute/Msolvent)Q-a
' 1 1
= C). 45 D) —
A) 9 ® 3 ()- D 73
5, 5.75 mg of sodium vapour is converted to sodium ion. If the ionisation energy of sodium
is 490 kJ mol-! and atomic weight is 23 units, the amount of energy needed for this
conversion will be
(A) 196K (B) 1960 kJ (© 1225k (D) 0.1225K]
5.75 mgmwwmwmwmmﬁmmwm
(ionisation energy) A 490 kJ mol™! @ AT 6AY 23 unit TV, SR 9T FAT
s 2{CaTerA T ’
B 9
(A) 1.96 kJ (B) 1960kJ © 1225kJ (D) 0.1225kJ
—— 28 - oo

C
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Category-III (Q 76 to 80)

Carry 2 marks each and one or more option(s) is/are correct. If all correct answers are not
marked and no incorrect answer is marked, then score = 2 x number of correct answers
marked + actual number of correct answers. If any wrong option is marked or if any
combination including a wrong option is marked, the answer will be considered wrong, but
there is no negative marking for the same and zero mark will be awarded.

% T THRE BuT 3T | 7R IV T Bug fipsT 2 T A | TR A G TET A AF G AF

BERs IR I 7 F SR MR 2 x W I e BwF TS TCAE O W -+ WACA T 3 TET
AF SR T | i TN T TR T 7w 1 e TETE W0 s g eeE e Sw g
YR TR T | T TICwTa It 7 i1 A3 1, Wi o7 9 AT |

76.  The product(s) in the following sequence of reactions will be

1. Na/ NH,(liq.)

thanol, -33 °
Me - C = C - Me — 2% e > Product (s)

2. dil. alkaline KMnO s

52 RfFarTy B Aad (ofer) =&
1. Na / NH, (%)
&e, -33 °C
MC—CEC—MC ‘ )%&%Wﬁ(@ﬁ)
2. Y HAMKMnO,
Me Me
" H—1—OH H——OH
@ | e G
Me Me
Me Me
HO—1—H BO=xpe—~rH
0 -
¢ / " B—4—o0H & HO H
Me'’ Me
c T 29 T TTTTTRT. .

P.T.O.

-t
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Th
€ compounds X and Y are respectively

X b‘]?& Y mm nm

1.Mg, ether 1.8S0Cl,
Br—@. 2. acetaldehyde 2. NH;
CH3 » X —Y
3. Br, / NaOH 3. Br,/ NaOH
4. H;,0"

. CH3 CH3

(A) H3C—©-—< and H:;C‘@"‘(
OH NH,
CH,

B) H3C~©——< and H3C—©—NH2
o

_ CH,

©) H30-©—< and H:;C—@’CONHZ

OH

(D) H3c—©—C02H and H;C‘©—Nﬂz

Aqueous solution of HNO,,  KOH, CH3COOH and CH,COONa of identical
concentration are provided. The pair (s) of solutions which form a buffer upon mixing is

(are)
(A) HNO, and CH;COOH
(C) HNO,; and CH;COONa

(B) KOH and CH;COONa
(D) CH,COOH and CH;COONa

«% prga HNO,, KOH, CH;COOH @3t CH;COONa ¥ TNy ¥ TRSH B | T

76 w39 A W @ B 9T e IeR @ SR
(A) HNO, 9 CH;COOH (B) KOH @3t CH;COONa

(C) HNO, @3 CH;COONa (D) CH,COOH &% CH;COONa

of silver nitrate solution with phosphorous acid produces:
(A) Silver phosphite (B) Phosphoric acid
(C) Metallic silver . (D) Silver phosphate
oA SHRIEE RS Frerer M2WEE JI0H R eI

Reaction

(A) freTeE TTIRE (B) THRT wibe
() R FrEre ~ (D) feTeR ToTes
N,H, and H,0, show similarity in
(A) Density ‘ (B) Reducing nature
(D) Hybridisation of central atoms

(©) Oxidising nature
N,H, @32 H,0, O T AP A
B) Reme oS

(A) Y _
(©) wR e (D) TFES TN AFARD
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